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Answer any five questions .
All questions carry equal marks

l.a)  Explain the procédure_ to ﬁnd the solution of a differential equation using Laplace
- transform method.
b) Find i(t) in the c;rcmt in ﬁgure 1fort>0. Assume that the switch has been closed

for a long time .~

, {7+8]
2.a) '
o 3
Figure: 2
b)  Obtain the condltlon of transmlssmn parameters for two network connected in
© ' cascade. . " : : = [847]

3.a) “Explain the variations of characterlstlc impedance (Zo), attenuation constant ()
-and phase constant (f3) with frequency with. the help. .of neat sketch in band
-elimination filter,

b) Design a composite high pass filter to operate into a load of 8002 and have a
cut off frequency of 1.2 kHz. The filter is to have one constant k section, one m-
derived section'with f,, = il kHz andisuitable tétminatiofithalf sectivh. [8+7]




7.a)

b)

8.a)

b))

- reactance drop of 4. S‘V\\(;alculate the-full lc Toadst

Design symmetrical lattice attenuator with 30dB aftenuation, working into
. . . 2 .
6000 impedance: N = Antilog,((D/20) = Antﬂggm[;_g] =10.

Derive the design equations for
1) Symmetrical T attenuator. _
11) Syrimetricalyi:attenuator. N [7+8]

Explain applications of various d.c. generators.

A 500V de geni;rator is supplying a 30kW load has a resistance of 0:4Q, shunt
field resistance ‘'of 300Q. Determine the armattire current, induced emf. Allow a
contact drop is 1V per brush. . [7+8]

Explain the various losses in a DC motor. .

A 250V d.c. shunt motor has an armature resistance of 0.5Q and shunt field
resistance of 300L2, when driving at 600rpm at constant load. Aymature takes
20A, speed is required to rise from 600rpm to SOOrpm Calculate the additional
resistarice to be! 111.serted in the field urcuxt e SR [7-+8]

Draw and explam the n -Ioad phasm %diagram of a 1-phase transformer. Discuss
how primary leakage § is‘accounted/for in the phasor diagram.

A trafisformer when *tcsteﬁ\pn full load‘zswf wind to have copper loss of 1. 8% and
egulation at power factors of -

1) 0.8 lag .
iii) 0.707 lead

7 ﬁ’GQS oﬁsteppcr motor and synchros
pnnélple; of a capacﬂo’“"“start indtiction motor. And ‘dfaw
[8+7]
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